



SHRI JAIN VIDYA PRASARAK MANDAL

COLLEGE OF EDUCATION

Fattechand Marg, Chafeker Chowk Chinchwad, Pune 411033. Tel.: 020-27352274,

APPROVED BY NCTE, GOVT. OF MAHARASHTRA & AFFILIATED TO SAVITRIBAI PHULE PUNE UNIVERSITY

NCTE CODE- 123228/2015

SPPU ID CODE: PU/PN/B.Ed./240/2006

Dr. Kothawade P.L.

(B.Sc., M.A., M.Ed., Ph.D.), Principal

Website: www.sjvpmcoe.in Email: sjvpmbed@gmail.com

Ref.

Date:

5.2.2 Percentage of student progression to higher education during the last completed academic year

Documentary evidence in support





(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2022

SEAT NUMBER: 62242516

CENTRE: 001

PERM. REG.NO: 62020001972

NAME: RACHARLA VAISHALI ARUN

MOTHER: SHOBHANA

COLLEGE / SCHOOL :

(CEDP012530) SHRI JAIN VIDYA PRASARAK MANDALS ADHYAPAK MAHAVIDYALAYA, CHINCHWAD

YEAR /SEM	SUBJECT CODE	SUBJECT NAME	INT	UEX	TOT	CRED ITS	GRA DE	GRADE POINT	CREDIT POINT	
SUBJEC	CT : ENGLIS	SH .								
1	ENG 01	ENGLISH LITERATURE FROM 1550 TO 1798	19	48	67	8.0	A	8.00	64.00	
	ENG 02	ENGLISH LITERATURE FROM 1798 TO THE PRESENT	22	64	86	8.0	A+	9.00	72.00	
	ENG_03	CONTEMPORARY STUDIES IN ENGLISH LANGUAGE	18	60	78	8.0	A+	9.00	72.00	
	ENG_04	LITERARY CRITICISM AND THEORY	23	42	65	8.0	A	8.00	64.00	
		Grand Total (out of 400)	296	N I		X0739X	17	3	7	-
2	ENG 05	INDIAN WRITING IN ENGLISH	27 *	28 *	55	8.0 -	. B+	7.00	56.00	
.esc	ENG 06	CULTURAL STUDIES	27 *	49 * -	76	8.0	A+	9.00	72.00	
	ENG 07	INDIAN LITERATURES IN ENGLISH TRANSLATION	27 *	41 *	68	8.0	A	8.00	64.00	
	ENG 08	AMERICAN LITERATURE	27 *	37 *	64	8.0	A	8.00	64.00	
	AOC 1	INTRODUCTION TO CYBER SECURITY	*			4.0	P	1		
	AOC 2	INTRODUCTION TO CONSTITUTION	<u></u> *			4.0	P	1	-	
	AOC 3	HUMAN RIGHTS	*			2.0	P	1		
		Grand Total (out of 400)	263		a great			8 2	100	
1	SGPA: 8.50	, Total Credit Points: 272.00, Total Credits Earned/To	tal Cr	edits.	32/32	obba 0	. Cred	its: 0.00	2	
2		Total Credit Points: 256 00 Total Credits Farmed/To								

SGPA: 8.00, Total Credit Points: 256.00, Total Credits Earned/Total Credits: 32/32.0 Addon Credits: 10.00 CGPA= 8.25, Total Credit Points= 528.00, Total Credits Earned/Total Credits= 64.0/64.0, AddOn Credits: 10.00,

Final Grade: A+, , Total Marks: 559/800 (69.88 %)



Shri Jain Vidhya Prasarak Mandal College of Education (B.Ed.) Chinchwadgaon, Pune-33.



DATE: 18 Nov 2022

Medium of instruction: English

Dr. Mahesh Kakade

Director



(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2022

SEAT NUMBER: 62242528

CENTRE: 001

PERM. REG.NO: 62020004143

NAME: BORKAR SANDHYA SANDIP

MOTHER: MUKTA

COLLEGE / SCHOOL :

(CEDP012530) SHRI JAIN VIDYA PRASARAK MANDALS ADHYAPAK MAHAVIDYALAYA,

CHINCHWAD

YEAR /SEM	SUBJECT CODE	SUBJECT NAME	INT	UEX	TOT	CRED ITS	GRA DE	GRADE POINT	CREDIT POINT
SUBJE	CT : EDUCA	TION							
1	MAE101	BASICS OF EDUCATION & PSYCHOLOGY OF LEARNER & LEARNING	27	39	66	8.0	A	8.00	64.00
	MAE102	PHILOSOPHY & SOCIOLOGY OF EDUCATION	27	49	76	8.0	A+	9.00	72.00
	MAE103	INDIAN EDUCATION POLICY & SYSTEMS & RESEARCH METHODOLOGY IN EDUCATION	27	55	82	8.0	A+	9.00	72.00
	MAE104	INCLUSIVE EDUCATION & LIFELONG LEARNING AND NGO	27	57 .	84	8.0	, A+	9.00	72.00
	*	Grand Total (out of 400)	308	•	. ·				
2	MAE201	DEVELOPMENT OF HIGHER EDUCATION IN INDIA AND PROFESSIONAL DEVELOPMENT OF TEACHERS	28 *	51 *	79	8.0	·A+	9.00	72.00
	MAE202	INTERNATIONALIZATION OF HIGHER EDUCATION AND MULTICULTURAL EDUCATION	28 *	51 *	79	8.0	A+	9.00	72.00
	MAE203	ORGANIZATIONAL BEHAVIOR AND GUIDANCE AND COUNSELING	28*	55 *	83	8.0	A+	9.00	72.00
	MAE204	DEVELOPMENT OF EDUCATIONAL MANAGEMENT AND ENVIRONMENTAL EDUCATION	28 *	49**	77	,8.0	A+	9.00	72.00
	AOC 1	INTRODUCTION TO CYBER SECURITY	*			4.0	P	. 1	
	AOC 2	INTRODUCTION TO CONSTITUTION	*			4.0	P	1	
	AOC 3	HUMAN RIGHTS	*			2.0	P	1	***
		Grand Total (out of 400)	318						

SGPA: 8.75, Total Credit Points: 280.00, Total Credits Earned/Total Credits: 32/32.0 Addon Credits: 0.00 SGPA: 9.00, Total Credit Points: 288.00, Total Credits Earned/Total Credits: 32/32.0 Addon Credits: 10.00

CGPA= 8.88, Total Credit Points= 568.00, Total Credits Earned/Total Credits= 64.0/64.0, AddOn Credits: 10.00, Result Final Grade: A+, , Total Marks: 626/800 (78.25 %)

Marksheet & Passing certifica Received by Certifica Mass. Vidya D. Marke PR Shri Jain Vidh

Dr. Mahesh Kakade

Shri Jain Vidhya Prasarak Mandal College of Education (B.Ed.) Chinchwadgaon, Pune-33.

Director

Board of Examinations & Evaluation



DATE: 18 Nov 2022

Medium of instruction: English



(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2022

SEAT NUMBER: 62242530

CENTRE: 001

PERM. REG.NO: 62020006549

NAME: BYAGAR AARTI SUNIL

MOTHER: LAXMI

COLLEGE / SCHOOL :

(CEDP012530) SHRI JAIN VIDYA PRASARAK MANDALS ADHYAPAK MAHAVIDYALAYA, CHINCHWAD

YEAR /SEM	SUBJECT CODE	SUBJECT NAME	INT	UEX	TOT	CRED ITS	GRA DE	GRADE POINT	CREDIT POINT
SUBJEC	CT : EDUCA	TION							
OCDIDO		Hon							
1	MAE101	BASICS OF EDUCATION & PSYCHOLOGY OF LEARNER & LEARNING	27	38	65	8.0	A	8.00	64.00
	MAE102	PHILOSOPHY & SOCIOLOGY OF EDUCATION	27	35	62	8.0	A	8.00	64.00
	MAE103	INDIAN EDUCATION POLICY & SYSTEMS & RESEARCH METHODOLOGY IN EDUCATION	27	29	56	8.0	B+	7.00	56.00
	MAE104	INCLUSIVE EDUCATION & LIFELONG LEARNING AND NGO	27	42 .	69	8.0	· A	8.00	64.00
	Ni	Grand Total (out of 400)	252	2 0		* *	*		
2	MAE201	DEVELOPMENT OF HIGHER EDUCATION IN INDIA AND PROFESSIONAL DEVELOPMENT OF TEACHERS	28 *	49 *	77	8.0	·A+	9.00	72.00
	MAE202	INTERNATIONALIZATION OF HIGHER EDUCATION AND MULTICULTURAL EDUCATION	28 *	48 *	76	8.0	A+	9.00	72.00
	MAE203	ORGANIZATIONAL BEHAVIOR AND GUIDANCE AND COUNSELING	28 *	52 *	80	8.0	A+	9.00	72.00
	MAE204	DEVELOPMENT OF EDUCATIONAL MANAGEMENT AND ENVIRONMENTAL EDUCATION	28 *	43 *	71	8.0	A	8.00	64.00
	AOC 1	INTRODUCTION TO CYBER SECURITY	*		-	4.0	P	- 1	_ -
	AOC 2	INTRODUCTION TO CONSTITUTION	*			4.0	P	1	
	AOC 3	HUMAN RIGHTS	*			2.0	P	1	
		Grand Total (out of 400)	304						7

SGPA: 7.75, Total Credit Points: 248.00, Total Credits Earned/Total Credits: 32/32.0 Addon Credits: 0.00 SGPA: 8.75, Total Credit Points: 280.00, Total Credits Earned/Total Credits: 32/32.0 Addon Credits: 10.00 CGPA= 8.25, Total Credit Points= 528.00, Total Credits Earned/Total Credits= 64.0/64.0, AddOn Credits: 10.00, Final Grade: A+, , Total Marks: 556/800 (69.5 %) Result

Marksheet and Passing certificate
is being issued



Shri Jain Yidhiya Prasarak Mandal College of Education (B.Ed.) Chinchwadgaon, Pune-33.



Medium of instruction: English

Dr. Mahesh Kakade

Director

DATE: 18 Nov 2022



(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2022

SEAT NUMBER: 62242557

CENTRE: 001

PERM. REG.NO: 62020006266

NAME: SURVASE SHWETALI BABU

MOTHER: SUMAN

COLLEGE / SCHOOL:

(CEDP012530) SHRI JAIN VIDYA PRASARAK MANDALS ADHYAPAK MAHAVIDYALAYA,

CHINCHWAD

YEAR /SEM	SUBJECT CODE	SUBJECT NAME	INT	UEX	тот	CRED ITS	GRA DE	GRADE POINT	CREDIT POINT
SUBJEC	CT : EDUCA	TION							
1	MAE101	BASICS OF EDUCATION & PSYCHOLOGY OF LEARNER & LEARNING	27	43	70	8.0	A	8.00	64.00
	MAE102	PHILOSOPHY & SOCIOLOGY OF EDUCATION	27	60	87	8.0	A+	9.00	72.00
	MAE103	INDIAN EDUCATION POLICY & SYSTEMS & RESEARCH METHODOLOGY IN EDUCATION	27	62	89	8.0	A+	9.00	72.00
	MAE104	INCLUSIVE EDUCATION & LIFELONG LEARNING AND NGO	27	66	93	8.0	0	10.00	80.00
		Grand Total (out of 400)	339						
2	MAE201	DEVELOPMENT OF HIGHER EDUCATION IN INDIA AND PROFESSIONAL DEVELOPMENT OF TEACHERS	28 *	35 *	63	8.0	A	8.00	64,00
	MAE202	INTERNATIONALIZATION OF HIGHER EDUCATION AND MULTICULTURAL EDUCATION	28 *	44 *	72	8.0	A	8.00	64.00
	MAE203	ORGANIZATIONAL BEHAVIOR AND GUIDANCE AND COUNSELING	28 *	51 *	79	8.0	A+	9.00	72.00
	MAE204	DEVELOPMENT OF EDUCATIONAL MANAGEMENT AND ENVIRONMENTAL EDUCATION	28 *	54 *	82	8.0	A+	9.00	72.00
	AOC 1	INTRODUCTION TO CYBER SECURITY	*			4.0	P	1	
	AOC 2	INTRODUCTION TO CONSTITUTION	*			4.0	P	!	
	AOC 3	HUMAN RIGHTS Grand Total (out of 400)	_* 296			2.0	P	1	-

SGPA: 9.00, Total Credit Points: 288.00, Total Credits Earned/Total Credits: 32/32.0 Addon Credits: 0.00

SGPA: 8.50, Total Credit Points: 272.00, Total Credits Earned/Total Credits: 32/32.0 Addon Credits: 10.00

Result CGPA= 8.75, Total Credit Points= 560.00, Total Credits Earned/Total Credits= 64.0/64.0, AddOn Credits: 10.00, Final Grade: A+, , Total Marks: 635/800 (79.38 %)

marksheet & Recieved

Uni. D.n.s.
Dueya Prasara,
Uni. D.n.s.
Dueya Barara,
Chinakadayanoso
Chinakada

Medium of instruction: English

Shri Jain Vidhya/Prasarak Mandal College of Education (B.Ed.) Chinchwadgaon,Pune-33.

Dr. Mahesh Kakade

Director

DATE: 18 Nov 2022



(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2022

SEAT NUMBER: 62240247

NAME: PARDESHI ROHINI AMIR

CENTRE: 001

PERM. REG.NO: 62020006547

MOTHER: VIDHYA

COLLEGE / SCHOOL:

(CEDP012530) SHRI JAIN VIDYA PRASARAK MANDALS ADHYAPAK MAHAVIDYALAYA,

CHINCHWAE

YEAR /SEM	SUBJECT CODE	SUBJECT NAME	INT	UEX	тот	CRED ITS	GRA DE	GRADE POINT	CREDIT POINT
SUBJEC	CT : SOCIOL	OGY							
1	SC01	CLASSICAL SOCIOLOGICAL THOUGHT AND SOCIOLOGICAL THEORIES I	25	42 *	67	8.0	A	8.00	64.00
	SC02	SOCIOLOGY OF INDIA AND SOCIOLOGY OF MAHARASHTRA: CULTURE AND SOCIETY	24	38	62	8.0	A	8.00	64.00
	SC03	APPLICATION OF SOCIOLOGICAL RESEARCH METHODS AND METHODOLOGY OF SOCIAL RESEARCH	25	31	56	8.0	B+	7.00	56.00
	SC04	SOCIOLOGY OF MEDIA AND GLOBALIZATION AND LABOUR IN INDIA	25	42	67	8.0	Α	8.00	64.00
		Grand Total (out of 400)	252						
2	SC05	CONTEMPORARY SOCIAL THEORIES AND SOCIOLOGY OF GLOBALIZATION	27 *	43 *	70	8.0	A	8.00	64.00
	SC06	SOCIOLOGY OF DEVELOPMENT AND SOCIOLOGY OF HUMAN RIGHTS	27 *	47 *	74	8.0	A	8.00	64.00
	SC07	URBAN STUDIES AND ETHNICITY AND NATIONALISM IN INDIA	27 *	47 *	74	8.0	Α	8.00	64.00
	SC08	SOCIOLOGY OF GENDER AND SOCIOLOGY OF LAW AND POLICING	27 *	46 *	73	8.0	A	8.00	64.00
	AOC 1	INTRODUCTION TO CYBER SECURITY	*		77	4.0	P	1	-
	AOC 2	INTRODUCTION TO CONSTITUTION	*			4.0	\mathbf{P}	1	-
	AOC 3	HUMAN RIGHTS	*			2.0	P	1	
		Grand Total (out of 400)	291						

SGPA: 7.75, Total Credit Points: 248.00, Total Credits Earned/Total Credits: 32/32.0 Addon Credits: 0.00

SGPA: 8.00, Total Credit Points: 256.00, Total Credits Earned/Total Credits: 32/32.0 Addon Credits: 10.00

Result CGPA= 7.88, Total Credit Points= 504.00, Total Credits Earned/Total Credits= 64.0/64.0, AddOn Credits: 10.00, Final Grade: A, , Total Marks: 543/800 (67.88 %)

Marketing certificate

Rasing certificate

Rasing certificate

Received 1-2/2/2013

Shri Jain Vidhya Pilasarak Mandal College of Education (B.Ed.) Chinchwadgaon, Pune-33.

DATE: 18 Nov 2022

Medium of instruction: Marathi

Dr. Mahesh Kakade

Director



(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2022

SEAT NUMBER: 62242555

CENTRE: 001

PERM. REG.NO: 62020005694

NAME: MRUNAL ASHISH SOLANKI

MOTHER: ALKA

COLLEGE / SCHOOL:

(CEDP012530) SHRI JAIN VIDYA PRASARAK MANDALS ADHYAPAK MAHAVIDYALAYA,

UNEVERVENCE VENTENE VE

CHINCHWAD

YEAR /SEM	SUBJECT CODE	SUBJECT NAME	INT	UEX	тот	CRED ITS	GRA DE	GRADE POINT	CREDIT POINT
SUBJEC	CT : EDUCA	TION				a 11			
1	MAE101	BASICS OF EDUCATION & PSYCHOLOGY OF LEARNER & LEARNING	27	45	72	8.0	Α	8.00	64.00
	MAE102	PHILOSOPHY & SOCIOLOGY OF EDUCATION	27	39	66	8.0	Α	8.00	64.00
	MAE103	INDIAN EDUCATION POLICY & SYSTEMS & RESEARCH METHODOLOGY IN EDUCATION	27	49	76	8.0	A+	9.00	72.00
	MAE104	INCLUSIVE EDUCATION & LIFELONG LEARNING AND NGO	27	70	97	8.0	O	10.00	80.00
		Grand Total (out of 400)	311						
2	MAE201	DEVELOPMENT OF HIGHER EDUCATION IN INDIA AND PROFESSIONAL DEVELOPMENT OF TEACHERS	28 *	37 *	65	8.0	Α	8.00	64.00
	MAE202	INTERNATIONALIZATION OF HIGHER EDUCATION AND MULTICULTURAL EDUCATION	28 *	38 *	66	8.0	A	8.00	64.00
	MAE203	ORGANIZATIONAL BEHAVIOR AND GUIDANCE AND COUNSELING	28 *	41 *	69	8.0	A	8.00	64.00
	MAE204	DEVELOPMENT OF EDUCATIONAL MANAGEMENT AND ENVIRONMENTAL EDUCATION	28 *	42 *	70	8.0	A	8.00	64.00
	AOC 1	INTRODUCTION TO CYBER SECURITY	*			4.0	P	1	
	AOC 2	INTRODUCTION TO CONSTITUTION	*	122		4.0	P	i	
	AOC 3	HUMAN RIGHTS	*			2.0	P	i	
		Grand Total (out of 400)	270			2.0	•	i.	

SGPA: 8.75, Total Credit Points: 280.00, Total Credits Earned/Total Credits: 32/32.0 Addon Credits: 0.00

SGPA: 8.00, Total Credit Points: 256.00, Total Credits Earned/Total Credits: 32/32.0 Addon Credits: 10.00

Result CGPA= 8.38, Total Credit Points= 536.00, Total Credits Earned/Total Credits= 64.0/64.0, AddOn Credits: 10.00, Final Grade: A+, , Total Marks: 581/800 (72.63 %)

Morksheet & Passing Certificate Received.

28/5/23



Chri Jain Vidhya Prasarak Mandal College of Education (B.Ed.) Chinchwadgaon,Pune-33.



DATE: 18 Nov 2022

Medium of instruction: English

Dr. Mahesh Kakade Director



(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR

SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2021

SEAT NO.

62137369

CENTRE

001

PERM REG. NO.: 62019006627

NAME

JOSEPH SELVINA MATHEW

MOTHER : VERONICA

COLLEGE / SCHOOL

(CEDP012530) Shri Jain Vidya Prasarak Mandals Adhyapak Mahavidyalaya, Chinchwad

YEAR/ SEM	SUBJECT CODE	SUBJECT NAME	INT	EXT	тот	CREDITS	GRADE	GRADE POINT	CREDIT POINT
SUBJEC	T : EDUCA	TION							
1	MAE101	BASICS OF EDUCATION & PSYCHOLOGY OF LEARNER & LEARNING	17	41	58	8.0	B+	7.00	56.00
	MAE102	PHILOSOPHY & SOCIOLOGY OF EDUCATION	20	46	66	8.0	Α	8.00	64.00
	MAE103	INDIAN EDUCATION POLICY & SYSTEMS & RESEARCH METHODOLOGY IN EDUCATION	17	39	56	8.0	В+	7.00	56.00
	MAE104	INCLUSIVE EDUCATION & LIFELONG LEARNING AND NGO	22	52	74	8.0	Α	8.00	64.00
		Grand Total (out of 400)			254				
2	MAE201	DEVELOPMENT OF HIGHER EDUCATION IN INDIA AND PROFESSIONAL DEVELOPMENT OF TEACHERS	26 *	63 *	89	8.0	A+	9.00	72.00
	MAE202	INTERNATIONALIZATION OF HIGHER EDUCATION AND MULTICULTURAL EDUCATION	18 *	53 *	71	8.0	A	8.00	64.00
	MAE203	ORGANIZATIONAL BEHAVIOR AND GUIDANCE AND COUNSELING	22 *	57 *	79	8.0	A+	9.00	72.00
2	MAE204	DEVELOPMENT OF EDUCATIONAL MANAGEMENT AND ENVIRONMENTAL EDUCATION	24*	62 *	86	8.0	A+	9.00	72.00
		Grand Total (out of 400)			325				

SGPA: 7.50, Total Credit Points: 240.00, Total Credits Earned/Total Credits: 32/32.0

SGPA: 8.75, Total Credit Points: 280.00, Total Credits Earned/Total Credits: 32/32.0

Result CGPA=8.13, Total Credit Point=520.00, Total Credits Earned/Total Credits=64.0/64.0, Final Grade: A Total Marks:579/800 (72.38 %)

Shri Jain Vidhya Prasarak Mandal College of Education (B.Ed.) Chinchwadgaon, Pune-33.

Medium of instruction: English

Board of Examinations & Evaluation



(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2021

SEAT NO.

62137792

CENTRE

001

PERM REG. NO. :

62019006732

NAME

PREETI SAMSON PAUL

MOTHER : KRUPA

COLLEGE / SCHOOL

(CEDP012530) Shri Jain Vidya Prasarak Mandals Adhyapak Mahavidyalaya, Chinchwad

YEAR/ SEM	SUBJECT CODE	SUBJECT NAME	INT	EXT	тот	CREDITS	GRADE	GRADE POINT	CREDIT POINT
SUBJEC	T : EDUCA	TION							
1	MAE101	BASICS OF EDUCATION & PSYCHOLOGY OF LEARNER & LEARNING	16	36	52	8.0	В	6.00	48.00
	MAE102	PHILOSOPHY & SOCIOLOGY OF EDUCATION	15	35	50	8.0	В	6.00	48.00
	MAE103	INDIAN EDUCATION POLICY & SYSTEMS & RESEARCH METHODOLOGY IN EDUCATION	17	41	58	8.0	B+	7.00	56.00
	MAE104	INCLUSIVE EDUCATION & LIFELONG LEARNING AND NGO	15	35	50	8.0	В	6.00	48.00
		Grand Total (out of 400)			210				
2	MAE201	DEVELOPMENT OF HIGHER EDUCATION IN INDIA AND PROFESSIONAL DEVELOPMENT OF TEACHERS	21 *	52 *	73	8.0	A	8.00	64.00
	MAE202	INTERNATIONALIZATION OF HIGHER EDUCATION AND MULTICULTURAL EDUCATION	22 *	49 *	71	8.0	A	8.00	64.00
	MAE203	ORGANIZATIONAL BEHAVIOR AND GUIDANCE AND COUNSELING	22 *	48 *	70	8.0	Α	8.00	64.00
	MAE204	DEVELOPMENT OF EDUCATIONAL MANAGEMENT AND ENVIRONMENTAL EDUCATION	23 *	56 *	79	8.0	A+	9.00	72.00
		Grand Total (out of 400)			293				

SGPA: 6.25, Total Credit Points: 200.00, Total Credits Earned/Total Credits: 32/32.0 SGPA: 8.25, Total Credit Points: 264.00, Total Credits Earned/Total Credits: 32/32.0

Result CGPA=7.25, Total Credit Point=464.00, Total Credits Earned/Total Credits=64.0/64.0, Final Grade:A,

Total Marks:503/800 (62.88 %)

Received & Passing certificate
Result & Passing

Medium of instruction: English

Shri Jain Vidhya Prasarak Mandal College of Education (B.Ed.)

Chinchwadgaon, Pune-33.

Board of Examinations & Evaluation



(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR ...

SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2021

SEAT NO.

62137882

CENTRE

001

PERM REG. NO. :

62019006733

NAME

SAYALI SHARAD SALVE

MOTHER : SADHANA

COLLEGE / SCHOOL

(CEDP012530) Shri Jain Vidya Prasarak Mandals Adhyapak Mahavidyalaya, Chinchwad

YEAR/ SEM	SUBJECT CODE	SUBJECT NAME	INT	EXT	TOT	CREDITS	GRADE	GRADE POINT	CREDIT POINT
SUBJEC	T : EDUCA	TION							
1	MAE101	BASICS OF EDUCATION & PSYCHOLOGY OF LEARNER & LEARNING	\$12	\$28	40	8.0	D	4.00	32.00
	MAE102	PHILOSOPHY & SOCIOLOGY OF EDUCATION	16	38	54	8.0	В	6.00	48.00
	MAE103	INDIAN EDUCATION POLICY & SYSTEMS & RESEARCH METHODOLOGY IN EDUCATION	16	38	54	8.0	В	6.00	48.00
	MAE104	INCLUSIVE EDUCATION & LIFELONG LEARNING AND NGO	17	39	56	8.0	B+	7.00	56.00
		Grand Total (out of 400)			204				
2	MAE201	DEVELOPMENT OF HIGHER EDUCATION IN INDIA AND PROFESSIONAL DEVELOPMENT OF TEACHERS	21 *	43 *	64	8.0	·A	8,00	64.00
	MAE202	INTERNATIONALIZATION OF HIGHER EDUCATION AND MULTICULTURAL EDUCATION	22 *	59 *	81	8.0	A+	9.00	72.00
	MAE203	ORGANIZATIONAL BEHAVIOR AND GUIDANCE AND COUNSELING	22 *	38 *	60	8.0	Α	8.00	64.00
	MAE204	DEVELOPMENT OF EDUCATIONAL MANAGEMENT AND ENVIRONMENTAL EDUCATION	22 *	55 *	77	8.0	A+	9.00	72.00
		Grand Total (out of 400)			282				

SGPA: 5.75, Total Credit Points: 184.00, Total Credits Earned/Total Credits: 32/32.0 1 SGPA: 8.50, Total Credit Points: 272.00, Total Credits Earned/Total Credits: 32/32.0

CGPA=7.13, Total Credit Point=456.00, Total Credits Earned/Total Credits=64.0/64.0, Final Grade:A, Result Total Marks: 486/800 (60.75 %)

\$ 0.1

um of instr

Medium of instruction: English

Director Board of Examinations & Evaluation Shri Jain Vidhya Prasarak Mandal College of Education (B.Ed.)

Chinchwadgaon, Pune-33.



(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR SCHOOL OF OPEN AND DISTANCE LEARNING

M.COM. (CBCS 2019) EXAM - JUNE 2023

SEAT NUMBER: 62394157

CENTRE: 001

PERM. REG.NO: 62021003468

NAME: PATEL RIZWANA SHAKIR

MOTHER: NASREEN

COLLEGE / SCHOOL : (CED

(CEDP012530) SHRI JAIN VIDYA PRASARAK MANDALS ADHYAPAK MAHAVIDYALAYA,

CHINCHWAD

YEAR	SUBJECT CODE	SUBJECT NAME	INT	UEX	тот	CRED ITS	GRA DE	GRADE POINT	CREDIT POINT
SUBJEC	T : ADVAN	ICED MARKETING							
1	101	MANAGEMENT ACCOUNTING AND FINANCIAL ANALYSIS AND CONTROL	28	55	83	8	A+	9	72
	102B	STRATEGIC MANAGEMENT AND BUSINESS STATISTICS	28	49	77	8	A+	9	72
4 Massa.	117	MARKETING TECHNIQUES AND CUSTOMER RELATIONSHIP MANAGEMENT & RETAILING	28	57	85	8	A+	9	72
	118	CONSUMER BEHAVIOR AND SERVICES MARKETING Grand Total (out of 400)	27 329	57	84	8	A+	9	72
2	201	BUSINESS FINANCE AND CAPITAL MARKET AND FINANCIAL SERVICES	28 *	42 *	70	8	Α	8	64
	202B	RESEARCH METHODOLOGY FOR BUSINESS AND OPERATIONS RESEARCH	28 *	36 *	64	8	Α	8	64
	217	INTERNATIONAL MARKETING AND RECENT ADVANCES IN MARKETING	28 *	43 *	71	8	Α	8	64
	218	MARKETING RESEARCH AND CASE STUDIES	28 *	42 *	70	. 8	A	8	64
	AOC 1	INTRODUCTION TO CYBER SECURITY	*	-		4	P		_
	AOC 2	INTRODUCTION TO CONSTITUTION	*	-	-2	4	P	1	
	AOC 3	HUMAN RIGHTS Grand Total (out of 400)	* 275		-	2	P.	i i	

SGPA: 9.00, Credit Points: 288, Credits Earned/Total Credits: 32/32, Addon Credits: 0

2 SGPA: 8.00, Credit Points: 256, Credits Earned/Total Credits: 32/32, Addon Credits: 10

Result CGPA= 8.50, Credit Points= 544.00, Credits Earned/Total Credits= 64/64, AddOn Credits: 10, Final Grade: A+,, Total Marks: 604/800 (75.5%)

Unit D.no.
During 2207205
Chinchwaggen,
Purass

Chri Jain Vidhya Prasarak Mandal College of Education (B.Ed.) Chinchwadgaon, Pune-33.

Mark sheet and at Market certificate Market recircles

Medium of instruction: English

Dr. Mahesh Kakade

Director

Board of Examinations & Evaluation



DATE: 08 Nov 2023



(formerly University of Pune)
GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR

SCHOOL OF OPEN AND DISTANCE LEARNING

M.COM. (CBCS 2019) EXAM - JUNE 2021

SEAT NO.

62120573

CENTRE

001

PERM REG. NO. :

62019002163

NAME

BELHEKAR AISHWARYA NITIN

MOTHER : MINAKSHI

COLLEGE / SCHOOL

(CEDP012530) Shri Jain Vidya Prasarak Mandals Adhyapak Mahavidyalaya, Chinchwad

YEAR/ SEM	SUBJECT CODE	SUBJECT NAME	INT	EXT	TOT	CREDITS	GRADE	GRADE POINT	CREDIT POINT
SUBJEC	T : BUSINE	ESS PRACTICES AND ENVIRON	MENT						
1	101	MANAGEMENT ACCOUNTING AND FINANCIAL ANALYSIS AND CONTROL	25	59	84	8.0	A+	9.00	72.00
	102A	STRATEGIC MANAGEMENT AND INDUSTRIAL ECONOMICS	17	39	56	8.0	B+	7.00	. 56.00
	111	ORGANIZED TRADES AND MARKETS AND MODERN BUSINESS PRACTICES	23	55	78	8.0	A+	9.00	72.00
	112	BUSINESS ENVIRONMENT AND POLICY AND BUSINESS ENVIRONMENT ANALYSIS	19	43	62	8.0	Α	8.00	64.00
		Grand Total (out of 400)			280				
2	201	BUSINESS FINANCE AND CAPITAL MARKET AND FINANCIAL SERVICES	26*	52 *	78	8.0	A+	9.00	72.00
	202A	RESEARCH METHODOLOGY FOR BUSINESS AND INDUSTRIAL ECONOMIC ENVIRONMENT	22*	53 *	75	8.0	A+	9.00	72.00
	211	ENTREPRENEURIAL BEHAVIOR AND RECENT ADVANCES IN BUSINESS PRACTICES AND ENVIRONMENT	26*	53 *	79	8.0	A+	9.00	72.00
	212	ENTREPRENEURSHIP AND CASE STUDIES	26*	53 *	79	8.0	A+	9.00	72.00
		Grand Total (out of 400)			311				

SGPA: 8.25, Total Credit Points: 264.00, Total Credits Earned/Total Credits: 32/32.0

SGPA: 9.00, Total Credit Points: 288.00, Total Credits Earned/Total Credits: 32/32.0

Result CGPA=8.63, Total Credit Point=552.00, Total Credits Earned/Total Credits=64.0/64.0, Final Grade:A+, Total Marks:591/800 (73.88 %)

passing Result & certficate Receive 23/7/22

Belletm

Poice Director

Medium of instruction : English

Board of Examinations & Evaluation

Shri Jain Vidhya Prasarak Mandal College of Education (B.Ed.) Chinchwadgaon,Pune-33.

No.: 23 -1132138



SAVITRIBAI PHULE PUNE UNIVERSITY

(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2023

SEAT NUMBER: 62332663

CENTRE: 001

PERM. REG.NO: 62021004063

NAME: GADEKAR GAURI DATTATRAY

MOTHER: PUSHPA

COLLEGE / SCHOOL: (CEDP012530) SHRI JAIN VIDYA PRASARAK MANDALS ADHYAPAK MAHAVIDYALAYA,

CHINCHWAD

YEAR	SUBJECT CODE	SUBJECT NAME	INT	UEX	TOT	CRED ITS	GRA DE	GRADE POINT	CREDIT POINT
SUBJEC	CT : HISTOR	Y							
1	HIS111	HISTORY: THEORY AND METHOD AND APPROACHES TO HISTORY	26	51	77	8	A+	9	72
	HIS112	EVOLUTION OF IDEAS AND INSTITUTIONS IN EARLY INDIA AND IDEAS AND INSTITUTIONS IN MEDIEVAL INDIA	26	57	83	8	A+	9	72
	HIS113	MARATHA POLITY AND SOCIO-ECONOMIC HISTORY OF THE MARATHAS	26	50	76	8	A+	9	72
	HIS123	HERITAGE MANAGEMENT AND HISTORY OF TECHNOLOGY IN INDIA	26	52	78	8	A+	9	72
		Grand Total (out of 400)	314						
2	HIS211	CULTURAL HISTORY OF MAHARASHTRA AND MODERN MAHARASHTRA: HISTORY OF IDEAS	28 *	44 *	72	8	A	. 8	64
	HIS212	INTELLECTUAL HISTORY OF THE MODERN WORLD AND DEBATES IN INDIAN HISTORIOGRAPHY	28 *	40 *	68	8	A	8	64
	HIS213	ECONOMIC HISTORY OF MODERN INDIA AND WORLD AFTER WORLD WAR II (1945-2000)	28 *	51 *	79	8	A+	9	72
	HIS214	EAST ASIA: JAPAN (1853-2000) AND HISTORY OF MODERN INDIA (1857-1971)	28*	50 *	78	8	A+	9	72
	AOC 1	INTRODUCTION TO CYBER SECURITY	*			4	P	!	
	AOC 2	INTRODUCTION TO CONSTITUTION	*		24	4	P	1	
16.5	AOC 3	HUMAN RIGHTS	*	-		2	P	1	
		Grand Total (out of 400)	297						

SGPA: 9.00, Credit Points: 288, Credits Earned/Total Credits: 32/32, Addon Credits: 0

SGPA: 8.50, Credit Points: 272, Credits Earned/Total Credits: 32/32, Addon Credits: 10

CGPA= 8.75, Credit Points= 560.00, Credits Earned/Total Credits= 64/64, AddOn Credits: 10, Final Grade: A+,, Total Marks: 611/800 (76.38 %)

Yash Gadekar



Siri Jain Vienya Prasarak Mandal College of Education (B.Ed.)

Chinchwadgaon, Pune-33.

Medium of instruction: Marathi

Dr. Mahesh Kakade

Director

Board of Examinations & Evaluation



DATE: 01 Nov 2023



(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2023

SEAT NUMBER: 62332678

CENTRE: 001

PERM. REG.NO: 62021004111

TAMBOLI NASREEN RIYAZ

MOTHER: ROSHAN

COLLEGE / SCHOOL :

(CEDP012530) SHRI JAIN VIDYA PRASARAK MANDALS ADHYAPAK MAHAVIDYALAYA,

YEAR	SUBJECT CODE	SUBJECT NAME	INT	UEX	TOT	CRED ITS	GRA DE	GRADE POINT	CREDIT POINT
SUBJEC	CT : ENGLIS	OH CONTRACTOR OF THE CONTRACTO							
1	ENG_01	ENGLISH LITERATURE FROM 1550 TO 1798	26	28	54	8	В	6	48
-144	ENG 02	ENGLISH LITERATURE FROM 1798 TO THE PRESENT	27	34	61	8	Α	8	64
	ENG 03	CONTEMPORARY STUDIES IN ENGLISH LANGUAGE	27	40	67	- 8	A	8	64
	ENG_04	LITERARY CRITICISM AND THEORY	27	28	55	. 8	B+	7	56
		Grand Total (out of 400)	237					1	
2	ENG_05	INDIAN WRITING IN ENGLISH	28 *	AB *	28	8	F	0	0
	ENG 06	CULTURAL STUDIES	28 *	AB *	28	8	F	0	0
	ENG 07	INDIAN LITERATURES IN ENGLISH TRANSLATION	29*	AB *	29	8	F	0	0
	ENG_08	AMERICAN LITERATURE	28 *	AB *	28	8	F	0	- 0
	AOC 1	INTRODUCTION TO CYBER SECURITY	_*			- 4	P	1	-
	AOC 2	INTRODUCTION TO CONSTITUTION	*		-1	4	P	-1	- 1
	AOC 3	HUMAN RIGHTS	*	17.44	2 -	2	P	1	
		Grand Total (out of 400)	113	A SPORT					

SGPA: 7.25, Credit Points: 232, Credits Earned/Total Credits: 32/32, Addon Credits: 0

SGPA: --, Credit Points: 0, Credits Earned/Total Credits: 0/32, Addon Credits: 10, Result: Fail

CGPA= --, Credit Points= 232.00, Credits Earned/Total Credits= 32/64, AddOn Credits: 10, Final Grade:--, , Total Marks:--/800 (-- %)



DATE: 01 Nov 2023

i Jain Vidhya Prasarak Mandal College of Education (B.Ed.) Chinchwadgaon, Pune-33.

Medium of instruction: English

Dr. Mahesh Kakade

Director



(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2023

SEAT NUMBER: 62332714

CENTRE: 001

PERM. REG.NO: 62021003456

NAME: KHEKARE SWATI NITIN

MOTHER: LEELA

COLLEGE / SCHOOL:

(CEDP012530) SHRI JAIN VIDYA PRASARAK MANDALS ADHYAPAK MAHAVIDYALAYA,

YEAR	SUBJECT CODE	SUBJECT NAME	INT	UEX	TOT	CRED ITS	GRA DE	GRADE POINT	CREDIT POINT
SUBJEC	CT : MARAT	HI *							
1	MAR111	BHASHAVYAVHAR ANI BHANSHIK KAUSHALYA	26	46	72	8	A	8	64
	MAR112	ARVACHIN MARATHI VADMAYACHA IITHAS (EE. SA. 1818 TE EE. SA. 2010)	26	39	65	8	A	8	- 64
	MAR113	AITIHASIK BHASHAVIDNYAN ANI SAMAJBHASHAVIDNYAN	26	43	69	8	A	8	64
	MAR118	MARATHI VYAKRAN	26	50	76	8	A+	. 9	72
		Grand Total (out of 400)	282						
2	MAR211	PRASARMADHYAMANSATHI LEKHANKAUSHALYE	28 *	52 *	80	8	A+	9	72
	MAR212	SATHITAY SAMIKSHA AANI SAHITYA SANSHODHAN	29 *	36 *	65	8	A	8	64
	MAR213	NEMLELYA ARVACHIN SAHITYAKRUTICHA ABHYAS	29*	39 *	68	8	Α	8	64
	MAR214	MARATHITIL VAICHARIK SAHITYA AANI SAHITYACHA SAMAJIK DRUSHTINE ABHYAS	28*	38 *	66	8	A	8	64
and the	AOC 1	INTRODUCTION TO CYBER SECURITY	*		-	4	P	1	. j
	AOC 2	INTRODUCTION TO CONSTITUTION	*	-	-	4	P	!	
	AOC 3	HUMAN RIGHTS	*			2	P	1	-
		Grand Total (out of 400)	279						
1	SGPA: 8.2	5, Credit Points: 264, Credits Earned/Total Credits: 32	2/32,	Addon	Credi	its: 0			
2	Later Del Maria Charles Later A Maria President Co.	5, Credit Points: 264, Credits Earned/Total Credits: 33							
Result		25, Credit Points= 528.00, Credits Earned/Total Credit					10 , F	inal Grad	le:A+, ,
		ks:561/800 (70.13 %)		16					127

peceived Passing certificate & Result

Shri Jain Vidhya Prasarak Mandal College of Education (B.Ed.) Chinchwadgaon, Pune-33.

Medium of instruction: Marathi

Dr. Mahesh Kakade

Director

Board of Examinations & Evaluation



DATE: 01 Nov 2023



(formerly University of Pune)

GANESHKHIND PUNE 411 007

MENT OF MARKS / GRADES FOR SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2023

SEAT NUMBER: 62332679

CENTRE: 001

PERM. REG.NO: 62021003466

NAME: JADHAV NEHA DNYANESHWAR MOTHER: SUNANDA

COLLEGE / SCHOOL :

(CEDP012530) SHRI JAIN VIDYA PRASARAK MANDALS ADHYAPAK MAHAVIDYALAYA,

CHINCHWAD

YEAR	SUBJECT CODE	SUBJECT NAME	INT	UEX	тот	CRED ITS	GRA DE	GRADE POINT	CREDIT POINT
SUBJEC	CT : HINDI								
1	HIN111	MADYYUGIN KAVYA AUR KATHETAR GADYA SAHITYA	29	41	70	8 .	Α	8	64
	HIN112	KATHA SAHITYA AUR SHODH PRAVIDHI	30	50	80	8	A+	9	72
egici.	HIN113	BHARTIYA KAVYASHASTRA AUR PASHCYATYA KAVYASHASTRA	30	34	64	8	A	8	64
	HIN115	NATAKKAR MOHAN RAKESH AUR HINDI UPANYAS SAHITYA	30	44	74	8	Α	8	64
		Grand Total (out of 400)	288				d'E		
2	HIN211	AADHUNIK KAVYA (AADARSHAVADI, CHAYAVADI TATHA ANYA KAVYA) AUR AADHUNIK KAVITA	29*	55 *	84	8	A+	9	72
	HIN212	BHASHAVIDNYAN AUR HINDI BHASHA KA VIKAS	29 *	48 *	77	8	A+	9	72
	HIN213	HINDI SAHITYA KA ITIHAS (AADIKAL, BHAKTIKAL, RITIKAL AUR AADHUNIKKAL)	28 *	54 *	82	8	A+	9	72
	HIN214	SANCHAR MADHYAM SIDHANT AUR SWARUP AUR BHARTIYA SAHITYA	28 *	55 *	83	8	A+	9	72
	AOC 1	INTRODUCTION TO CYBER SECURITY	*	123	-	4	P	1	
	AOC 2	INTRODUCTION TO CONSTITUTION	*	- <u></u>	_	4	P	1	01/70
	AOC 3	HUMAN RIGHTS	*	-		2	P	1	
		Grand Total (out of 400)	326						
Control of the last	The state of the s				3 0 K				

SGPA: 8.25, Credit Points: 264, Credits Earned/Total Credits: 32/32, Addon Credits: 0

SGPA: 9.00, Credit Points: 288, Credits Earned/Total Credits: 32/32, Addon Credits: 10

Result CGPA= 8.63, Credit Points= 552.00, Credits Earned/Total Credits= 64/64, AddOn Credits: 10, Final Grade: A+,, Total Marks: 614/800 (76.75 %)

Passing certificate.
Marklist received.

Jadharn.P. 25/01/23



DATE: 01 Nov 2023



Chri Jain Vidhya Prasarak Mandal Callege of Education (B.Ed.) Chinchwadgaon, Pune-33.

Medium of instruction: Marathi

Dr. Mahesh Kakade

Director



(formerly University of Pune)

GANESHKHIND PUNE 411 007

STATEMENT OF MARKS / GRADES FOR SCHOOL OF OPEN AND DISTANCE LEARNING

M.A. (CBCS 2019) EXAM - JUNE 2023

SEAT NUMBER: 62332667

CENTRE: 001

PERM. REG.NO: 62021003687

NAME: SONAR JAYSHREE TUSHAR

MOTHER: KUSUM

COLLEGE / SCHOOL:

(CEDP012530) SHRI JAIN VIDYA PRASARAK MANDALS ADHYAPAK MAHAVIDYALAYA,

CHINCHWAD

YEAR	SUBJECT CODE	SUBJECT NAME	INT	UEX	TOT	CRED ITS	GRA DE	GRADE POINT	CREDIT POINT
SUBJEC	CT : ENGLIS	H							
1	ENG_01	ENGLISH LITERATURE FROM 1550 TO 1798	27	36	63	8	Α	8	64
	ENG_02	ENGLISH LITERATURE FROM 1798 TO THE PRESENT	26	30	56	8	B+	7	56
	ENG_03	CONTEMPORARY STUDIES IN ENGLISH LANGUAGE	26	34	60	8	A	8	64
	ENG_04	LITERARY CRITICISM AND THEORY	26	28	54	8	В	6	48
		Grand Total (out of 400)	233						
2	ENG_05	INDIAN WRITING IN ENGLISH	29 *	52 *	81	8	A+	9	72
	ENG_06	CULTURAL STUDIES	28 *	46 *	74	8	A	8	64
	ENG_07	INDIAN LITERATURES IN ENGLISH TRANSLATION	28 *	47 *	75	8	A+	9	72
	ENG_08	AMERICAN LITERATURE	29 *	43 *	72	8	A	8	64
	AOC 1	INTRODUCTION TO CYBER SECURITY	*			4	P	!	
Charles a	AOC 2	INTRODUCTION TO CONSTITUTION	*			4	P	- 1	
	AOC 3	HUMAN RIGHTS	*	-		2	P		
		Grand Total (out of 400)	302						

SGPA: 8.50, Credit Points: 272, Credits Earned/Total Credits: 32/32, Addon Credits: 10

Result CGPA= 7.88, Credit Points= 504.00, Credits Earned/Total Credits= 64/64, AddOn Credits: 10, Final Grade:A, , Total Marks: 535/800 (66.88 %)

beceived natished



DATE: 01 Nov 2023

Siri Jain Vidhya Prasarak Mandal Cllege of Education (B.Ed.) Chinchwadgaon, Pune-33.

Medium of instruction: English

Dr. Mahesh Kakade

Director